
CHEMISTRY CLUSTER PATHANAMTHITTA  

Chemistry Question Paper Batch – II             Time  : 2 hours 

Maximum :  60 scores                                         Cool off Time  :  15 minutes 

Answer any four questions from 1 to 5 (Each question carries 1 score) 

1 apX¬ 5 hsc-bp-ff tNmZy-ß-fn¬ GsX-¶nepw \mse-Æ-Øn\v DØ-c-sa-gp-Xp-I. (1 kvtIm¿ 

hoXw) 

1. Identify the order of the reaction whose rate constant is 2.1x10-4S-1.? 
td‰v  tIm¨Ã‚v 2.1x10-4S-1 Bbn-́ p-ff Hcp cmk-{]-h¿Ø-\-Øns‚ Hm¿U¿ \n¿Æ-

bn-°p-I. 

2. What is Lucas reagent ? 
eq°mkv dotb-P‚v  F∂m¬ F¥v ?  

3. Which of the following undergoes haloform reaction. 
NphsS \¬In-bn-cn-°p-∂-h-bn¬ lmtemt^mw cmk {]h¿Ø\-Øn\v  

hnt[-b-am-Im-ØXv GXv ? 

a)  CH3 – CH2 – CO – CH2 – CH3  
b)  CH3 – CHOH – CH3 
c)  CH3 – CH2 – CH2 – C1  
d) CH3 – CH2 – NH2 

4. Give an example for Oligosaccharide ? 
HentKm km°-ssd-Un\v Hcp DZm-lcWw Fgp-Xp-I.   

5. Name the central metal present in Chlorophyll.? 
t¢mtdm^n¬ F∂ D]-kwtbmPI kwbp-‡-Øn¬ AS-ßn-bn-cn°p∂ temlw GXv 

? 

Answer any eight questions from 6 to 15. 
(Each question carries 2 scores)  
6 apX¬ 15 hsc-bp-ff tNmZy-ß-fn¬ GsX-¶nepw 8 FÆ-Øn\v DØ-c-sa-gp-Xp-I.  (2 

kvtIm¿ hoXw).   
6. State Henry’s Law.  Give one practical application. 

sl≥{Sn  \nbaw {]kvXm-hn-°p-I. GsX-¶nepw Hcp {]mtbm-KnI D]-tbmKw Fgp-Xp-

I. 

7. The conductivity of 0.20M solution of KCI at 298 K is 0.02485cm-1.  
Calculate its molar conductivity.  



0.20M KCl  emb-\n-bpsS  I- -IvSn-hn‰n 298 K  ¬ 0.0248s Cm-1  BWv.  emb-\n-bpsS 

tamfm¿ I- -IvSn-hn-‰n I- p-]n-Sn-°pI ? 

8. What are pseudo order reactions ?  Give one example.? 
I]S H∂mw Hm¿U¿ cmk-{]-h¿Ø\w F∂m¬ F¥v .  Hcp DZm-l-cWw Fgp-Xp-I.  

9. Write the IUPAC name of the following compounds.? 
NphsS X∂n-cn-°p∂ D]-kw-tbm-PI kwbp-‡-ß-fpsS IUPAC \ma-ßƒ Fgp-Xp-I. 

a) K3  [ A1 (C2O4)3 ]        b  [ Ni (CO)4 ] 

   10.Calculate the magnetic moment of  Fe 2+ using the spin only formula?.  

 (Atomic Number of Fe – 26) 

kv]n≥  H¨en ka-hmIyw D]-tbm-Kn®v Fe 2+  am-s·-‰nIv sama‚v IW-°m-°pI 

(Fe   bpsS At‰m-anI \º¿ 26)   

   11.Chloroform is stored in closed dark coloured bottles completely filled?. 

        Explain with equation.  

t¢mmtdmt^mw Ccp-  Ip∏n-I-fn¬ \nd®v AS®v kq£n-°p-∂p.  CXns‚ ImcWw 

ka-hmIyw klnXw hni-Zo-I-cn-°p-I.  

   12. Complete the following reaction and name  it  

  CH3 CONH2 + Br2 + NaOH              

Ak-‰-ssaUv, t{_man\pw B¬I-en-bp-ambn cmk {]h¿Ø\w \S-°p-tºmƒ e`n-

°p∂ Dev]-∂sØ Xncn-®-dn-bp-I.  

   13.  Match the following: 

   A                                     B 

  Vitamin A    Glucose 

  Starch    Zymase 

  Aldohexose   Nightblindness 

  Enzyme    Amylose 

       Fructose 

 

 



 tNcp-w]Sn tN¿°p-I. 

             F     _n. 

  hn‰m-an≥ F    •qt°mkv 

  kv‰m¿®v    ssktakv 

  B¬tUm- slIvtkmkv   \nim-‘X 

  F≥sskw    {^IvtSm-kv. 

14.   Differentiate between order and molecularity.? 

 Hm¿Udpw tamfn-Iyq-em-cn-‰nbpw XΩn-ep-ff hyXy-mk-ßƒ GsX√mw ? 

15.   What is the importance of vant Hoff factor?. 

 hm‚vtlm^v ^mIvSdns‚ {]m[m\yw  F¥v ? 

Answer any eight questions from 16 to 26. 

(Each question carries 3 scores) 

 16 apX¬ 26 hsc-bp-ff tNmZy-ß-fn¬ GsX-¶nepw 8 FÆ-Øn\v DØ-c-sa-gp-Xp-I. 

 (3 kvtIm¿ hoXw). 

16.   [Ni (CN)4]
2-  is a coordination complex of Nickel?.  

 {Ni (CN)4}
2-  F∂Xv \n°-ens‚ Hcp D]-kw-tbm-PI kwbp-‡-am-Wv.  

 i) What is the shape of [Ni (CN)4]
2-       (1) 

 [Ni (CN)4]
2-  s‚ BIrXn F¥mWv ? 

 ii) Identify the hybridisation of Nickel in the above complex?.      (1) 

 apI-fn¬ X∂n-cn-°p∂ kwbp-‡-Ønse \n°-ens‚ ssl{_n-ssU-tk-j≥ 

Xncn-®-dn-bp-I.  

 iii) Explain the magnetic behaviour of the above complex?.        (1) 

 apI-fn¬ X∂n-cn-°p∂ kwbp-‡-Ønse Im¥nI kz`mhw hni-Zn-I-cn-°p-I.  

17.   a) Which is more acidic – phenol or 2, 4, 6  - trinitrophenol         (2)  

    Give reason.? 



 F) GXmWv IqSp-X¬ Akn-UnIv? ^ot\mƒ As√-¶n¬ 2,4, 6 ss{Sss\-t{Sm-̂ ot\mƒ

  

b)  What is Picric acid.? 
_n) ]n{InIv BknUv F¥mWv ? 

18.    Explain the variation of molar conductivity with concentration  with the 

         help of a graph.? 

KmV-X-bpsS ASn-ÿ-\-Øn¬ tamfm¿ I- -IvSn-hn-‰n-bpsS hyXymkw {Km^ns‚ 

klm-b-tØmsS hni-Zo-I-cn-°p-I.  

19.    a)  Explain the commercial preparation of ethanol ?  (2) 

 F)  FYt\m-fns‚ hymh-km-bnI \n¿ΩmWw hni-Z-am-°p-I. 

 b)  What is denaturation of alcohol      (1) 

 _n) B¬°-tlm-fns‚ KpW-\-io-I-cWw sIm- v A¿∞-am-°p-∂-X¥v ? 

                                         Br 
                             OH--  
20.   CH3 – CH2 – CH2 – CH – CH2                      X  + Y  
 1) Identify the major product       (1) 
 apJyDXv]∂w Xncn-®-dn-bp-I. 

 2)  Name and explain the rule which helps in predicting the 
               major product ?        (2) 
 apJy DXv]-∂sØ Xncn-®-dn-bm≥ klm-bn-°p∂ \nbaw GXv ? {]kvXm-hn-°pI? 

21.    How will you prepare benzaldehyde from toluene?.   (3) 
 s_≥km¬ Unssl-Un¬ \n∂v sSmfp-hns\ \n¿Ωn-°p-∂-sX-ßs\ ? 

22.    Complete the following reaction 
 NphsS X∂n-cn-°p∂ cmk {]h¿Ø\w ]q¿Øn-bm-°p-I.  

 
a) C6H5-OH     Br2/CS2          ------------------ 

 
b) C6H5-OH  +  3 Br2                          ----------------- 

 
23.   a)  Which is stronger base CH3 – NH2,  C6H5 – NH2.  Why ?  (2) 
 F) CH3 – NH2,  C6H5 – NH2.   Ch-bn¬ kvt{Smßv t_kv GXmWv ?  

    ImcWw hy‡-am-°p-I.  



b) Identify the product ? 
_n)  Xmsg-bp-ff cmk-{]-h¿Ø-\-Ønse Dev∏-∂sØ Is- -Øp-I?  

 
C6H5 NH2 + 3 Br2   H2O          -------------    
 

24.   a)  A solution containing 4.2g of organic  compound in 50g of acetone 
shows an elevation of boiling point by 1.87 K.  Determine the molarmass 
of the organic compound.? 

   (Kb of acetone 1.71 K Kg/mol)     (2) 
 F) 4.2 {Kmw Hm¿Km-\nIv kwbp‡w 50 {Kw Ask-t‰m-Wn¬ ebn-∏n® emb-\n-bpsS 

t_mbn-enwKv t]mbn‚n-ep-- mb Db¿® 1.87 sI Bbn ImW-s∏-́ p.  Hm¿Km-\nIv kwbp-‡-

Øns‚ tamfm¿ amkv I- p-]n-Sn-°p-I.  (A-sk-t‰m-Wns‚ Kb = 1.71 K Kg/mol)   
b) What is a fuel cell        (1) 
_n) ^yqh¬ sk¬ F¥mWv F∂v hni-Z-am-°p-I. 

25. a)  Name any 2 colligative properties.     (2) 
 F)-G-sX-¶nepw 2 tImfn-tK-‰ohv t{]m∏¿´n-IfpsS t]cv Fgp-Xp-I.  

 b)  What is the overall reaction of H2-O2 fuel cell..   (1)  
 _n) ^yqh¬sk-√ns‚ Hmh¿-Hmƒ dnbm-£≥ Fgp-Xp-I.  

26. a)  Explain carbylamine reaction.       (2) 
 F)  Im¿ss_¬ Aao≥ dnbm-£≥ hni-Zo-I-cn-°p-I. 

 b)  Complete the following reaction. 
  CH3 – CH2 – Br  +  Mg  dry ether             ----------     
 
 _n)  NphsS \veIn-bn-cn-°p∂ cmk-{]-h¿Ø-\w ]q¿Øn-bm-°p-I?.  

  CH3 – CH2 – Br  +  Mg  ss{U CuX¿             ---------- 
Answer any 4 questions from 27 to 31. 

(Each question carries 4 scores) 
 27 apX¬ 31 hsc-bp-ff tNmZy-ß-fn¬ GsX-¶nepw 4 FÆ-Øn\v DØ-c-sa-gp-Xp-I. 

 (4 kvtIm¿ hoXw)  

27. a)  Derive the integrated rate equation for a 1st order reaction.? (3) 
 F)  H∂mw  Hm¿U¿ cmk-{]-h¿Ø-\-Øns‚ C‚-t{K-‰Uv td‰v ka-hmIyw 

 hni-Zo-I-cn-°p-I.                                                                                                              

 b)  Draw the graph of a first order reaction?.    (1) 
 _n)  H∂mw Hm¿U¿ cmk-{]-h¿Ø-\sØ {Km^n-°-embn tcJ-s∏-Sp-Øp-I. 

28. Complete the reaction and name them ?. 



NphsS X∂n-cn-°p∂ cmk-{]-h¿Ø\w  ]q¿Øn-bm°n cmk-{]-h¿Ø-\-Øns‚ t]cv 

Fgp-Xp-I?.  

a) HCHO  +  Con KOH           
 

b)   C6H6  +  CO + HCl  an. AlCl3        
 
29. Explain the following reaction?.  
 Xmsg]-dbp∂ cmk-{]-h¿Ø-\-ßƒ hnh-cn-s®-gp-Xp-I?. 

  a)  Rosenmund reduction   (1) 
  F) tdmk≥a≥Uv  dnU-£≥ 

  b)  Aldol condensation   (1) 
  _n)  BƒtUmƒ I- ≥tk-j≥ 

  c)  Williamson’s Synthesis  (1) 
  kn) hneyw-k¨ kn-¥-knkv 

  d)  Clemmenson’s reduction  (1)  
  Un)  ¢a-\vk≥kv dnU-£≥.  

30. a)  What is lanthanoid contraction?. 
      Which is greator – Lanthanoid contraction  
      Or  actionoid contraction?. 
 F)  em¥-t\m-bnUv kt¶mNw F∂m-se¥v ?  GXm-Wv hepXv  

  em¥-t\m-bnUv kt¶m-Nw, BIvSn-t\m-bnUv kt¶m-Nw?.  

 b)  KMnO4 is a purple coloured crystal and it acts as an Oxidant?. 
               How will you prepare KMnO4 from its ore?.       (2)  

_n)  ]¿∏nƒ  \nd-Øn-ep-ff {IÃ-ep-I-fm-Wv  s]m´mkyw s]¿am≥K-t\-‰v.  CXv Hcp 

HmIvko-Im-cn-bmbn {]h¿Øn-°p-∂p.  s]m´mkyw s]¿am≥K-t\-‰ns\ AXns‚ Abn-

cn¬ \n∂pw Fßs\ \n¿Ωn-°mw?.  

31. Identify and explain the type of structural isomerison exhibited by the 
         following pair of co-ordination compounds.  

NphsS X∂n-cn-°p∂ D]-kw-tbm-PI kwbp‡ tPmUn-I-fpsS LS\ sFtkm-sa-dn-k-

ßƒ Gh?  Ah hni-Z-am-°p-I.  

a)  [Co (NH3)5 SO4]  Br  and [Co (NH3)5 Br] SO4. 
 

b)  [Co (NH3)6]  [Cr (CN)6]  and  [Cr (NH3)6]  [Co (CN)6]  




